Econ 101 – Introduction to Economics



Name_____________

Terminal Exam

Dr. Bill Russell – December 14, 2004

True, False or Uncertain - Answer 5 of 6  (10 points each)

1. No firm would produce where MR=MC, because at that point, profit per unit equals zero.

2. The falling value of the dollar, which is caused by a continuously large trade deficit, is bad for American businesses.

3. A competitive market is ideal for consumers because in such a market producers are motivated by their desire to satisfy consumers.

4. If the US is ten times better than China at making t-shirts, and twenty times better at making TVs, then there is no way the US and China can benefits from trading TV and t-shirts.

5. In order for a market to achieve a competitive outcome, it must meet all the conditions of the competitive model.

6. There is no such thing as a free lunch.

Extra Practice

1. It is impossible to make an accounting loss and still be making an economic profit.

2. It costs less to cut your own grass than it does to pay someone to do it for you.

3. If you can’t pay the debt associated with running your business, it makes no sense to continue producing.

4. Because monopolies are protected from competition, they can charge whatever price they want and always make profits.

5. Everyone would benefit if the government would protect workers from losing their jobs because of inefficiency and economic losses.  

 Part II – Short Answer (25 Points each)
7. Use  graphs to answer this question about a competitive industry.  (30 Points)
a. Show the market and firm in long run equilibrium.  

i. Label P*, Q*, q*

ii. Show any profits or losses.

b. Now, assume that the price of a substitute for this good falls (Ps().

i. How does this affect the market?

ii. Determine the new short run equilibrium for the market and the firm.  Label the new equilibrium Q**, P**, q**

iii. Label any profits or losses.

c. Determine and label the long run equilibrium for the firm and market.

i. Label the final Q***, P***, and q***

d. Determine how the following variables change.  (Answer:  Bigger (() or Smaller (() or Same (-))

	
	SR(a) to SR (b)
	SR (b) to LR (c)

	Q
	
	

	P
	
	

	q
	
	

	Profit
	
	

	# of firms
	
	


8.  Draw the following graphs.  (5 points each)
a. Show the welfare effect of the imposition of a Price ceiling below the equilibrium price.  Be sure to clearly label CS, PS and any DWL.
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b. Show the welfare effect of the imposition of a minimum wage above the equilibrium.  Be sure to clearly label CS, PS and any DWL.
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c. Show a competitive firm breaking even
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d. Show a competitive firm losing money
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